
Original Date: 190799Issue Date: 190799Version No: 1Date Modified: 1st Issue

Sole UK DistributorSealey Group,Bury St. Edmunds, Suffolk.

01284 757500 01284 703534 E-mail: sales@sealey.co.uk

PARTS LIST & DIAGRAM FOR:DUST & CHIP EXTRACTOR Model: SM46
Item Part No. Description1 SM46A/01 Screw, 3/16� x 3/8� long (16 off)2 SM46A/02 Castor (4 off)3 SM46A/03 Base plate4 SM46A/04 Support, left5 SM46A/05 Support, right6 SM46A/06 Screw, 5/16� x 1/2� long, hex. (8 off)7 SM46A/07 Screw, 5/16� x 1/2� long, hex. (4 off)8 SM46A/08 Tube plug (2 off)9 SM46A/09 Screw, 5/16� x 1-1/4� long (4 off)10 SM46A/10 Handle11 SM46A/11 Collector, lower12 SM46A/12 Screw, M6 x 20mm long, socket13 SM46A/13 Washer14 SM46A/14 Set screw, 5/16� x 5/16�, socket (2 off)15 SM46A/15 Impeller16 SM46A/16 Screw 1/4� x 1/2� long, hex. (4 off)17 SM46A/17 Collector, upper18 SM46A/18 Screw, 3/16� x 3/8� long (16 off)19 SM46A/19 Spacer20 SM46A/20 Key, 5 x 5 x 25mm21 SM46A/21 Motor22 SM46A/22 Switch23 SM46A/23 Power cable24 SM46A/24 Filter bag25 SM46A/25 Clamp (2 off)26 SM46A/26 Upper bag support27 SM46A/27 Nut, 5/16�28 SM46A/28 Washer, 5/16�29 SM46A/29 Collector bag30 SM46A/30 Allen key, 4mm31 SM46A/31 Allen key, 5mm32 SM46A/32 Spanner, 12mm33 SM46A/33 Hose, 2.5m x 100mmØ - not shown34 SM46A/34 Hose clip (2 off) - not shown

SM46 - 0016 - (1) - 160799


